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Spring Final Review #2 (Unit 8, Unit 9, Cold War)
Using your knowledge of history figure out the answers to the crossword. Spelling counts, no spaces between words! Good luck!
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BE B 898888

'Developed because the working class struggles and reformers wanted to address
inequality fom IR

stalemate, westem front, high casualties

Allowed for easier shipment of raw materials & two way river travel

Slavic nationalist group that assassinated Archduke Franz Ferdinand

William Willberforce ended this in England

all resources of govt dedicated to war efort

Lenin & the Bolsheviks (economic goals) Introduce some Communist ideas, leave
few Capilaistideas to recover Russian economy

Increased productivity in factories and extended the workday

Jewel n the British Crown

causes of WWI (V+A)

Worked to make x-ray technology available during WWI to treat wounded

“ar Nicholas forced to abdicate, Provisional govemment, some reform

coined term ron Curtain’

Japan invades Manchuria, policy of appeasement, taly in Ethiopia= whose lack of
pover

Economic theories that emerge from inequalities highlighted by IR

“The sun never ses on the British Empire’ under whose rule

harsh terms imposed on Germany contributed to the outbreak of WWII

‘Competing Cold War ideologies (___and. ) ABC order

“To avoide imperialize they cooperated wih wester power & indusrialized

inventions created to combat and bring an end to trench warfare (___and___)
ABC order

supported idea European cultural, technological superiori ight o rule over “weaker”
sociefies

“Powder keg'of Europe

Who is added to the proletariat work force during

and___ )

Down

B555 & B8 sr1BY

‘examples— Korean War, Vietham War

Leader? Communist, Collectivization, 5 Year Plan, censorship, great

purge, religious persecution

‘opened up another frontin WWil spliting German army; eventualy leads

toVE day

England has a large supply of these two natural resources (wo words

together, ABC order)

Legisiation passed to address rights of the workers

‘The British were issuing iroops bulles that were greased with cowand

pig fat

form of govt based on total control by one leader or pary

developed germ theory of disease; heat could kill bacteria which spoiled

liquids'

Stop spread of Communism

social class that benefis from the Industrial Revolutions

Decrease the time and money required to travel from England fo her

colony, India

FDR plan (o end the Great Depression

causes of WWI (N)

‘Soviet Union dominates Eastern European nations post WWil to create a
from Westem aggression’

Political party responsible for October Revolution, led by Lenin

‘Sputnik starts it

US joins WWIl afler—

type oftotalitarian govt, miltaristic; extreme loyalty: taly under Mussolini

Germany rearms, annexes Austia, invades Czechoslovakia + France &

Brtain =

Hiier's ferm for the genocide of Jewish people living in Europe

Losing this war being the domination of China by foreign powers, and

‘made her a Sphere of nfluence

Movementin England that brought large scale farming & increased

‘migration of workers fo ciies

ends fighting in a vir

classless society, no private property, Profits belong to workers

Feature of capialism ‘No government involvement in business

‘Germany 1o pay 132 billion gold marks (US$33 billon) to cover civiian

damage caused during the war




